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KPR BB A (ZE—-tFE—H)

B B2 g 9 e B o 0

S8 22 il PR & R S FaRE
b (B/5)

B i [ 6-10 7.6-88 8.0 =
EHEE (mg/) 100 <30 - 67 45 =
BV 48 &= (mg/) 10 <2 ) =
WM& E (ng/) 2,000 470 - 663 571 =
WAL 4 E  (mg/) 10 <0.5 <0.5 =
FALEEE (mg/l) 0.1 <0.040 - 0.041 0.040 =
RO EIRREE (me/) 100 <15 <15 =
HAE  (mg/h) 20 <10 <10 =
MedE (mg/) 0.5 <0.3 <0.3 =
Rer R E (mg/) 1 <0.6 <0.6 =
FHEMER (mg/) 15 <7 <7 =
EEFHRE (mg)) 2,000 345 - 580 459 =
AR E (me/) 200 <20 - 31 26 =2
i E (0 43 22-23 2 =
T % V8 (me/lh) # ; _ ]
FEESB

f - (me/l) 2 <0.4 <0.4 =
#H (mg/l) 5 <1.0-1.0 1.0 =
8 (mg/l) 0.1 <0.1 <0.1 =
$&  (mg/l) 1 <0.3 <0.3 =
i1 (mg/l) 2 <0.5 <0.5 =
i (mg/D) 2 <1 <1 =
Bh (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 Lk
5% (mg/l) 2 <1 <1 =
PR (mg/D) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 =
$¥  (mg/D) 2 <1 <1 =
HE 2B EH## (mg/) 10 <7.0 <7.0 2
Bl (mg/l) 5 <1.0-1.8 1.3 0
#  (mg/l) 10 <2 <2 I




28 172 i PR G B 38 FEiRE
e (/5

e &k
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AL LNE (mgl) 0.01 <0.01 <0.01 s
FEZELEEY
KT (mg/l) 0.1 <0.06 <0.06 s
EEMiEeyw
1,1,1- = & 2 5% (mg/) 0.05 <0.025 <0.025 s
LEBE -
% & K 48 & (mg/) 0.003 <0.003 <0.003 s
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ErREREEZRBERE (ZE—CFE—H)

3 PE IR &R Sk FERE
FEm ) © (B/E)

() =+5rgEpsE @
ok (kg/0.5h) 0.58 0.00 - 0.02 0.00 2
& /EmT (kg/0.5h) 3.86 0.00 - 1.54 0.14 =2
B (kg/0.5h) 1.16 0.00 - 0.27 0.02 =2
G4 (kg/0.5h) 0.08 0.00 - 0.00 0.00 2
ALY
(L= & 16 & 5 &) 771 0.79 - 3.48 1.56 &
(kg/0.5h)
A AR (kg/0.5h) 0.39 0.00 - 0.08 0.00 =2
— & /B 6% (kg/0.5h) 1.93 0.00 - 1.09 0.09 =
(z) B39 ©
ok (ke/day) 9.25 0.03-0.13 0.08 2
“EAEW (ke/day) 46.27 3.26 - 16.34 6.81 2
BifE (ke/day) 9.25 0.20 - 3.10 0.95 2
& ALE (kg/day) 0.93 0.00 - 0.00 0.00 =
ALY
(L= & 1k & 3 &) 185.06 58.13 - 84.82 73.32 yiss
(kg/day)
A HER  (keg/day) 9.25 0.08 - 0.26 0.18 =2
— &% (kg/day) 46.27 0.58 - 8.31 4.19 =
()  Hith

3 PE IR G R FaRE

(HEm %) ® (B/T)

= = PN
3“%?%%% ) (ke/h) 0.93 0.04 =
B EALEY
(ME\ b= & & H) 0.73 <0.004 =
(kg/h)
W% 1 (LABR % 51 5 (kg/h) 1.45 0.25 =
Bh4EE(DIBEETE) ke/h) 0.21 <0.006 =
B RORAEE (kg/h) 0.19 <0.005 s




28 22 i PR & 4 R E R E
HER =)@ (B/&)
AH S8
E0E G E)NE R
ﬁgﬁ)ﬁ%(% ROWEE | (01 <0.0003 =
FESBE R ©:
Rl (ke/h) 0.0023 <0.0001 =
BB B Nes
ﬁgﬁf%(% SOUEE 0.019 <0.0020 =
% (ke/h) 0.0019 <0.0001 =
T IEH (ng/h) 2,891 57.9 =
=E:
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@) FHEEBEG —BOEME - 8% -
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(6) f Y45 SR P 273K ~ 101.3 kPa ~ 58 4 62 1§ #Y B R 88 A 1F 5t B A&
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KIEER 2 EBEBEYEBESE (—ZE—-tF—F)
S8 122 i R F&E &R S8 /F& R
(B/F)
FE—E 4
. 8 (H 1
% i 1 (/K) (E;JEE B 4100 125 =
)
EEE S %) |0 (H;ﬁﬁﬁ 62-91 770 =
%)
EB&B
% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.020 - 0.028 0.020 =2
A E (ppm) 10 <0.5 <0.5 =
#i (ppm) <0.5-3.8 0.8 -
2 (ppm) <0.5 <0.5 -
& (ppm) <1.0-5.0 1.2 -
# (ppm) <0.50 - 1.90 0.57 -
g ~ 58~ 8L - FERY o
#  (ppm) 20 <1 <1 =
Wi t¥ (ppm) 10 <5 <5 =
Z A% (ppm) 10 <2.0-4.6 2.1 2
#FAEY (ppm) 5 <5 <5 yoea
BEE
H 4% VALS A
?j% A %Y & 5,000 s <15 =
= (ppm)
BHH#HEEE ~
(ppm) 10 <5 <5 =
21X 8 = =
(ppm) 2 <2 <2 =
% &2 (ppm) 1 <1 <1 =
TCDD (ITEF %) =
(ppb) 1 <1 <1 =
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